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62.8 c?

(FEo])=5x%x2x3.14 x 2 = 62.8(cm?)
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(& 299 yol)= (WHx]F)x (F¥FA5)x3.14
(dHol)= (A5)x3.14x (&°l)

(B¥lol)= (& B Hol)x2+ (F4Hol)

(3t ¥ o] Hol)= 10 x 10 x 3.14 = 314( cm?)
(Fy¥lo])= 20 x 3.14 x 20 = 1256( cm?)
(BYlol)= 314 x 2 + 1256 = 1884( cm?)
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159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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A=Y Frit U715 29 ek

4x4%314x10+2 = 251.2( cm?)
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4,5, 69 HAFHS$E 60022 g ¥ Zo]7F 60cm 1 A
SHAE vHEH gy

w2t 60 = 4 = 15(71), 60 + 5 = 12(7H), 60 = 6 = 10(7)
o|B g A7|UGRE 15x 12 x 10 = 1800(7) 7} B 2 gt}
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7Fe] Hol:

(15x11) — {(4x 11) + (4% 15)} + (4 x 4)
= 165 — (44 + 60) + 16

=165-104 + 16

= 77(m?)

1to] yol:

(17x8) - {(2x17) + (2x8)} + (2% 2)

= 136 — (34 + 16) + 4

= 90(m?)
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(B4lol) = (B¥ol) x2+ (d=el)

967.12 = 153.86 X 2 + 7 x 2 X 3.14x (=°])
= 307.72 + 43.96x (£°])

(3°])= 659.4 + 43.96 = 15( cm)
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>
> ®Eh. 30.144L

A7)59] % w2 o 2 9jof ek
(5] Holo} o 2o of)
= (20x 20 x 3.14 x 72) x%

=20x20x3.14 x 24
= 30144(mL) — 30.144 L
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2] 20] 10cm, =°|7F 120cm ¢ S22 Ho HRlEE

dAHol= HiA 5
ALt FHE Hof| HA 6 E Btz Z52 uf, A L2
=919 Zol= 2 cm Q1A FoHA L.

E2E e =9H

10X 2 x 3.14 = 62.8( cm) T =2
wehA, 6 vH =2 3e o, S@9 2
(62.8 x 6 + 120) x 2 = 993.6( cm)
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